Задача № 482.
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Дано: АВСD – трапеция                    Решение: 
     ВС и АD – основания   

    АВ = СD
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 = 135⁰        

    ВЕ – высота                          1.[image: image2.png]£ABE= £ABC— LCBE = 135° - 90° = 45“} >a
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АВЕ –

    АЕ = 1,4 см                                 равнобедренный,   АЕ = ВЕ.      

   DЕ = 3,4 см                            2. Проведём высоту CF.  [image: image3.png]


АВЕ = [image: image4.png]
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 AE = FD
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 - ?                                    BC = EF (т.к. BCFE – прямоугольник)

                                                         3. [image: image7.png]


 = [image: image8.png]BC+AD




 · ВЕ,   [image: image9.png]
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 · 1,4 = 4,76 см²
                                             Ответ: [image: image11.png]


 = 4,76 см²

